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1. The word ‘beleaguered’ means
(A) Belittled
(B) Benefitted
(C) Troubled
(D) Irritated

2. Find the appropriate synonym of the word
‘Indefatigable’.

(A) Tireless
(B) Indomitable
(C) Unhappy
(D) Incompatible

3. The detective suddenly a useful

clue. Fill in with the right phrasal verb.
(A) gavein
(B) came across
(C) fill up
(D) fell down

4. The tranquillity and sanctity of the place
soothed us. Replace the underlined word with a
suitable word.

(A) Security
AB) Holiness
(C) Equanimity
(D) Placidity

5. Correct the following sentence and choose
the right answer: We had gone to the movies last
night.

(A) We had had gone to the movies last
night.

(B) We went to the movies last night.

(C) We should have gone to the movies
last night.

(D) Wehave gone to the movies last night.

6. Select the right answer: My watch is five
minutes

(A) slow
(B) lately
(C) past
(D) late

7. Fill in with suitable conjunction: He
advanced he could.
(A) until
(B) while
(C) as far as
(D) as

8. Select the correct answer to fill in the blank:
I am sure I him before.
(A) have met
(B) met
(C) had met
(D) will meet

9. Fillinwiththerightoption: 1 him
for a long time.
(A) have known
(B) knew
(C) had known
(D) should have known

10. Which is the correct form of the given
sentence: They discussed about the matter.
(A) They had discussed about the matter.
(B) They should have discussed about the
matter.
(C) They discussed the matter.
(D) The given sentence is correct.

11. Change the voice of the verb and select the
correct answer: ‘The script is being written.’
(A) The script will have to be written.
(B) Write the script.
AC) They are writing the script.
(D) They have been writing the script.

12. The idiomatic expression ‘see eye to eye’
means
(A) agree with someone.
(B) to remain neutral.
(C) to take over (something).
(D) to enjoy the best of both.

13. Ornithology is the study of
(A) Fish
(B) Coins
(C) Relics
(D) Birds




14. Rammade the most hisresources.

Choose the correct preposition.
(A) at
AB) of
(C) from
(D) with

15. The word necrophilia means
(A) Love for insects
(B) Love for children
(C) Cultivation of knowledge
D) Fascination with dead bodies

16. Convert the given sentence into an
interrogative sentence: I will meet you at the train
station.

(A) When will you meet me?
(B) How will you meet me?
~4€) Where will you meet me?

(D) Can’t you meet me?

17. She wanted to go on vacation, so she saved
money. Convert this to a simple sentence.

(A) As she wanted to go on vacation she
saved money.

SB) She saved money for vacation.

(C) She wanted to go on vacation and
saved her money.

(D) Although she saved her money, she
wanted to go on vacation.

18. Convert the given sentence into a simple
sentence:

Pancakes are delicious but not without syrup.

(A) Pancakes are delicious when served
with syrup.

(B) Pancakes are delicious only with
Syrup.

(C) If served with syrup, pancakes are
delicious.

(D) None of the above

19. Add asuitable prefix to form the opposite of
the word ‘Balance’.
(A) Nonbalance
(B) Unbalance
(C) Disbalance
/(b) Imbalance
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20. Fill in with the appropriate word:
The jury divided in their opinion.
(A) were

M was

(C) have been
(D) have

21. Fill in the blank with the suitable option:
Let's meet next week.

(A) sometimes
(B) sometime

(C) some time
(D) some times

22. Choose the right option to rewrite the
sentence:
No sooner
fog disappeared.
(A) did
(B) has

) had
(D) was

the sun risen than the

23. He says he has invented a time machine,
which is clearly a load of cobblers.

(A) Genuine
(B) Great

Kﬁ Nonsense
(D) Significant

24. He entered the hall in the
the show. Which is the right answer?

AA) Latter
(B) Later
(C) Late
(D) Lately

part of

25. He preferred classical music
popular numbers. Choose the correct preposition.
(A) from
(B) of
(C) over

AD) to
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26. East Kolkata wetlands have been declared as
(A) Biodiversity site
(B) Tourist site
(C) World Heritage site
5,9) Ramsar site

27. Bhur of Upper Ganga Plain of India is
;A) Undulating, aeolian sandy deposit
(B) Older alluvium
(C) Newer alluvium
(D) Muddy areas

28. West Bengal Land Reform Act came into
force in

(A) 1956
(B), 1958
46) 1955
(D) 1959

29. Head Quarter of Central Inland Water
Transport Corporation of India is located in

(A) Allahabad
AB) Kolkata
(C) Cochin
(D) Mumbai

30. Metro rail was started in Kolkata in
(A) 1984
(B) 1986
(C) 1988
(D) 1989

C4

31. About 80% of the coal reserves of India lie
in the

(A) Damodar valley
| (B) Son valley

(C) Mahanadi valley

(D) Godavari valley

32. The full-fledged state of Telengana came
into existence on

(A) 1stJune, 2013
(B) 1st June, 2014
(C) 1st June, 2015
(D) 1st June, 2016

33. Dhanekhali is famous for
~(A) Tant industry
(B) Paper industry
(C) Jute industry
(D) Leather industry

34. Western part of Tista river is known as
~(A) Terai
(B) Duars
(C) Tal
(D) Diara

35. Sundarban is declared as “World Heritage
Site’ for
(A) Tiger reserve
(B) Sundari tree
(C) Mangrove forest
/(D) Biodiversity




26. +¥ I TGRS (TN 1 TA®
(A) tatabaye 7w e
(B) #¥6w c%a RRra
(C) o fathe 7w R
(D) =R B foiE

27. SIRACSA T SN NG T 26 43I
(A) AR A A A sxeifie g
(B) “farew «Afe
(C) g #fer
(D) IAG Siea

28. +fR5waw giipicEa wiEe qeke 20
(A) 1956 A1
(B) 1958 AT
(C) 1955 A
(D) 1959 A

29. ©IA0Ed Central Inland Water Transport
Corporation-43 33 w3l Safze
(A) 9SRRA™
(B) F=rer
(C) ifoe
(D) TA%-4

30. (FEIIOR G bie] 28
(A) 1984 fas
(B) 1986 fs
| (C) 1988 faz
| (D) 1989

AC/19

31. SRSH I AL AR 80% TIEH FAZ
(A) WM Tofert
(B) (%I Sorerara
(C) sz SAeE
(D) ol Eorerer

32. (ol @b offaren R s a
(A) 1575, 2013
(B) 1371 &, 2014
(C) 13 g, 2015
(D) 1311 &, 2016

33, gt F oy R 2
(A) St e &
(B) 5% Mitsa &wg
(C) =If6 Mitera &y
(D) 5 f¥iterz Ty

34. fowt a7 «ifow Siet @ e Afafoe —
(A) TR
(B) &Rl
(C) o=
(D) frarat

35. WA fEfele @@ e ‘World
Heritage Site’ 7t f9g@ 41 230=
(A) T FRIFER G
(B) %! oMMed &)
(C) WS TG &
(D) Gl &
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36. Jalpaiguri town is located in the bank of
(A) Tista and Karala river
(B) Tista and Jaldhaka river
(C) Jaldhaka and Raidhak river
(D) Tista and Raidhak river

37. Rammam hydroelectric power is located in
(A) Purulia
(B) Bankura
(C) Jalpaiguri
(D) Darjeeling

38. Which of the following pairs is incorrectly
matched?

(A) Bhitarkanika: Olive ridley turtles
(B) Dalma Hills: Wild elephants

(C) Kaziranga: One-horned rhinos
(D) Dachigam: Asiatic lions

39. Firstrailway line was started in West Bengal
between |

J(}-\) Howrah to Hooghly
(B) Howrah to Ranigunge
(C) Howrah to Burdwan
(D) Sealdah to Naihati

40. The tropic of Cancer does not pass through
(A) Mizoram
(B) Tripura
AC) Orissa
(D) Madhya Pradesh

C-6

41. The Shola forest found in
(A) The Himalayas
(B) The Western Ghats
(C) The Vindhyan
(D) The Eastern Ghats

42. Kolleru lake is located between
(A) Godavari and Cauvery
AB) Godavari and Krishna

(C) Krishna and Cauvery

(D) Mahanadi and Godavari

43. What is Demographic Dividend?
(A) Increase in 0-5 year age group of
population
(B) Increase in 6-15 year age group of
population
(@) Increase in 16-64 year age group of
population

(D) Increase in over 65 year age group of
population

44. Which of the following district was not in
West Bengal at the time of Independence of India?

“(A) Coochbehar
(B) Howrah

(C) Darjeeling
(D) Murshidabad

45. Literacy rate of West Bengal is
(A) 82:67%
(B) 74-04%
77-08%

(D) 71-16%




36. wE#iiRef wza @ T Oid e e

41. (& Sge ¢t T

(A) o1 @ Fae 7@t (A) 2o «i4te
(B) fowl @ T@ni wint (B) ~f*5(G #idre
(C) GBIl @ ARGIF it (C) fm o<te
(D) &% @ AGIF Fal (D) =@6 #4re

37. A TERgR 2ETG (@IUE wafEe e
(A) jfer

42. (FIEE 0 (A SIS 2
(A) (oM @ FIEAT 4

Eg) ;l?'\ﬂ L (B) (sIMITS @ FRIF Wy
) TEARe

: (©) @ FIEAT W&
(D) wifeffee =

38. fsferfie i cerells Ao e
(A) ooz 3fde ¢ wfere Aot Foe

(D) 2! @ (SRR Sy

43. TEALATT I TS P (IR 2
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(B) versl #if2IG ¢ 3y e
(C) wiferamst ¢ a3 e
(D) wibst ¢ @iy ez

39, ARGIATH (I (ATF (I LY (@FFHA Bl

(A) 0-5 923 IWE E 72 I

(B) 6-15 382 IUEE AR A1 I
(C) 16-64 I57 TR T 722l I
(D) 65 IFAA TP NS A2 I

2 44. FETO! ST T AMRSTAH BT @
(A) 2T (A TSiAl (et foa 12
(B) 2€T! (A= A5G (A) @ifaaa
(C) 2eT (AT I (B) 2€ul
(D) P (s tralfo (C) wifeifae

(D)
40. fasfafs @im aera g e FEowe e

sl aluslsl PR S M——
(A) s (A) 82:67%
(B) faopat (B) 74-04%
(C) sfemn (C) 77-08%
(D) W= (D) 71-16%
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46. Mention the name of the state which has
larger boundary with West Bengal among the
following states of India.

"M] Jharkhand
(B) Bihar
(C) Orissa
(D) Assam

47. Laskshadeep is a island of
AA) Coral island
(B) Volcanic island
(C) Tectonic island
(D) Alluvial island

48. In India, which type of forest among the
following occupies the largest area?
(A) Tropical Wet evergreen
_{B) Tropical Moist deciduous
(C) Montane Wet temperate
(D) Tropical Dry deciduous

49. Manasorovar lake lies in
(A) Karakoram Range
(B) Pirpanjal Range
(C) Kailas Range
(D) Mahabharata Range

50. Shilong is situated in
(A) The Naga Hills

(B) The Garo Hills

(€) The Khasi Hills
(D) The Mikir Hills

C-8

51. “Atthe stroke of midnight, when the world
sleeps, India will awake to life and freedom.” was
said by

(A) Lord Mountbatten
(B) Dr. Rajendra Prasad
£C) Jawaharlal Nehru
(D) None of them

52. The Indian National Congress represented
the views of the microscopic minority in India.
The contention was maintained by

(A) Lord Curzon
(B) Lord Elgin

(C) Lord Lansdowne
(B¥ Lord Dufferin

53. Who conceived the idea of Pakistan?
(A) Asaf Ali
J4B) Mohammed Ali Jinnah
(C) H.S. Suhrawardy
(D) Choudhury Rahmat Ali

54. Who commented that Cripps Mission was
a post-dated cheque on a crashing bank?
(A) Sardar Vallavbhai Patel
By Mahatma Gandhi
(C) Subhas Chandra Bose
(D) Jawaharlal Nehru

55. Jallianwallah Bagh massacre occured in
£K) Amritsar
(B) Delhi
(C) Jallandhar
(D) Lahore




46. fafafae el s ARsTIeE S
e tTi S i

(A) ATCALeT
(B) faaaa
(C) sfexm
(D) wHAIGE

47. = Bolelg 2=
(A) 291 qieivg
(B) a7 @iotvlg
(C) G5l olvg
(D) 9 Aoy

48. fsfafie @F @ asfit srare Fifvs
2l T 2

(A) @IE7 = fHazfae aefi
(B) TSGR WG ~Afad! I7ghl
(C) #IEe) Siete o wifeRivere agh
(D) I8 % 21l avefi

49. W AARE SRFS
(A) FaEEN Aferiie
(B) “aoligte sifer=fare
(C) M ot
(D) wZree sfor=fice

50. e 27 wRfEe
(A) il 24T
(B) Sial o1&
(C) A 21¥re
(D) fifd=a «idte
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51. “9fSa 01 T4 TGRS RI0F, T4 (M5t 542
TG, SIS (378 A G S FIATOIA ~o{e<f (@l
Tora,— @2 TG I

(A) 6 TISHIANHA
(B) ©: Aterma=Av
(C) T2geleT (712F
(D) TALIA (FTE 7

52. ORISR IS WA SR GF YT
AR S afeffag o | @3 769 @ ol
FA00 2

(A) FTC FIE
(B) &1 «afor
(C) =16 FPEITH
(D) &€ wrEfzw

53. ‘e’ 2t v @& e -
(A) ST e
(B) wizwm wiife fem
(C) «%p. 7. FEareai
(D) Iyt 7S wifer

54. faep| e eiwr @3l ‘et T2 w997
e 5F-97 Trer'— B °fE Fa?

(A) FWIa qESSR AN
(B) Il Sif!

(C) oI 5% @

(D) GEREE (2F

55. wifFamenEals Torwe
(A) SSAT-«
(B) fadi-ce
(C) ©erad-9
(D) #MEF-9
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56. Who among the following annulled the
Partition of Bengal?
AAX) Lord Hardinge
(B) Lord Minto
(C) Lord Curzon
(D) Lord Chelmsford

57. Betweenwhom Carnatic Wars were fought?

(Ay~French East India Co. and English
East India Co.

(B) French East India Co. and Dutch East

India Co.

(C) Dutch East India Co. and the
Portuguese

(D) English East India Co. and the Dutch
(OLONDAZ)

58. The first mass movement started by
Mahatma Gandhi was

A7) Non cooperation movement
(B) Quit India movement

(C) Indigo movement

(D) Salt movement

59. Surya Sen was associated with which of the
event during the Indian freedom struggle?

X)) Chittagong Armoury Raid
(B) Kakori conspiracy

(C) Civil Disobedience movement
(D) Home Rule movement

60. Who among the following, led the sepoys
at Kanpur in the 1857 uprising?

(A) Tantia Tope

(B) Rani Lakshmibai
AC) Nana Sahib

(D) Kunwar Singh

61. The Asiatic Society of Bengal was founded
by
(A) C.F. Andrews
(B) Raja Rammohan Roy
4@y Sir William Jones
(D) William Marshal

62. The boundary between India and Pakistan
was demarcated by

(A) Lord Mountbatten
_AB)-Sir Cyril Radcliffe

(C) Sir Stafford Cripps

(D) Sir Pethick Lawrence

63. The main leaders of the Swaraj Party were
" (A) Vitthalbai J. Patel and Dr. Ansari
(B) M. N. Roy and Muzaffar Ahmed
AE)yMotilal Nehru and C. R. Das
(D) B.R. Ambedkar and P. C. Joshi

64. Who amongst the following was the first
woman President of the Indian National Congress?
" Annie Besant
(B) Mira Behn
(C) Sarojini Naidu
(D) Sarala Debi Choudhurani

65. The Indian National Congress was founded
by
AA) A.O. Hume
(B) Bal Gangadhar Tilak
(C) Motilal Nehru
(D) Surendra Nath Banerjee




56. fcs TS @I 2T Ioren v Siaw ?
(A) =6 2fte
(B) &6 frG!
(C) &C Fieier
(D) =€ GG

57. FH6a o AR

(A) TP 235 3 (3912 @ 357ae 395 B
@Ie-43 WY

(B) T 235 3! (I @ TIy 335 2f
@297 T

(C) ©fy 25 2R @k '@ AgNe-ar T2y

(D) %ol 295 3wl (@i @ Tl (o iier)-
R Y

58. TR SR (FOCY AL STSCHIEAD 2
(A) PRI STHIET
(B) ©Ie-2IG S
(C) =1 famarz
(D) =739 St

59. SRTSA FIATS! STHEAE (P Wo1F A%
5 o wfee fatem?
(A) BB SN I
(B) S1d agag Nl
(C) SIZH STl ST
(D) CENFe SITwIeT

60. 1857-3 w2lfaraie FwsE PR o9
o
(A) Sifeat Gifst
(B) A1 eI
(C) PR
(D) I e P
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61. ‘affifbes EIRD o @ 2wt T
(A) B 9. grgm
(B) e AR A7
(C) e TEfers (eiepi
(D) Tferams sfia

62. O© ¢ APV AT A BiFe w=
wifEg 1=

(A) &TE ATHIANBA
(B) 17 Fifzet anefee
(C) V1A FHIHIE GFrof
(D) 1 (oifei A=

63. F31% 67 2 @erat e
(A) RooeTofE (. N ¢ B2 S

(B) . G, T S JETFR ST
(C) = (e ¢ 1. =4, wis
(D) RR. =iz, sitEwsa @ 5. B, cameit

64. firs forfie i sifeetl erasha wsi Feaem™
223 f2e Holfs 2 2
(A) Ui (F®
(B) 3t @
(C) wraifEat wizy
(D) &N (i (Bryae

65. SO ToE Fard 2fevret fEw
(A) 9.8, 8w
(B) A= si5iad Toer
(C) wfesa ez
(D) Ftam w12 IS
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66. The Battle of Buxar was fought in
(A) 1762
ABY 1764
(C) 1768
(D) 1772

67. With whose permission did the English set
up their first factory in Surat?
(A) Akbar
By Jahangir
(C) Shahjehan
(D) Aurangzeb

68. When did Vasco-da-Gama come to India?
AT 1498 A.D.
(B) 1409 A.D.
(C) 1496 A.D.
(D) 1492 A.D.

69. Who built the Ibadatkhana at Fatehpur
Sikri?
(A) Shahjehan
(B) Aurangzeb
J€) Akbar
(D) Jahangir

70. Malik Kafur was general of
(A) Firuz Shah Tughlag
(B) Chandragupta Maurya
(C) Bimbisara
AP) Alauddin Khilji

C-12

71. Where did Gautama Buddha attain Nirvana
(enlightenment)?

(A) Lumbini
(B) Sarnath
_(€) Kusinagar
(D) Bodh Gaya

72. Who wrote Mrichhakatikam?
(A) Vishakhadatta
By Shudrak
(C) Banabhatta
(D) Bhas

73. Who among the following succeeded
Samudragupta as the next ruler of the Gupta
dynasty?

_AA) Chandragupta II
(B) Vishnugupta
(C) Chandragupta I
(D) Skandagupta

74. The inscriptions of Ashoka and the Brahmi
scripts were deciphered by
(A) Alexander Cunningham
AB) James Princep
(C) Max Muller
(D) Mortimer Wheeler

75. Which among the following places have
given the earliest evidence of agriculture in Indian
sub-continent?

(A) Pratapgarh
~(B) Mehrgarh
(C) Quetta
(D) Kalat




66. INNA & B
(A) 1762 B
(B) 1764 a1
(C) 1768 f&3%ic=
(D) 1772 &%

67. I ST BCAG 235 G @Al
FANG AT FIFA ZIoF FF 2
(A) S22
(B) &R
(C) =&z
(D) @zEa

68. ST~ I SIATS AW I ?
(A) 1498 fE55It=
(B) 1409 51
(C) 1496 =01
(D) 1492 f&Bita

69. o7 PiFire Tamed-a fasfrel ferew
(A) *f=ezle
(B) @7
(C) Siead
(D) E=HR

70. wifEE F1gE 17 EFlfe R e
(A) Trraremiz oo
(B) vmad G
(C) fRfE=
(D) SeTewis Rerdt
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71. CTew Ia @A Ferere e 2

(A) e
(B) #iq=Yy
(C) TR

(D) =igsEt

72. “REbI AGHLA el KW
(A) Rirawre
(B) @<
(C) AT
(D) &5

73. @A TSR N A a0e o7
1975 &

(A) oS varee
(B) fazped

(C) 2% PEae
(D) Fwee

74, STaTER @fe @ g @fea s s
(A) SEFEER FFEw
(B) e faiaiet

(C) s/ PeTR
(D) w5w" 2Bag

75. frneEie @ ZFitre elRer SosRIms
AN FRBPIE AW @ e
(A) 2SAog
(B) (C2aTe
(C) D!
(D) FwIre
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76. Select the lettered pair that has some
relationship as the original pair of words printed in
the bold:

Poverty : Prosperity
(A) Love : Sorrow
(B) Train : Cart
(C) Rain : Flood
_AD) Intelligence : Stupidity

77. In a certain code, BREAKTHROUGH is
written as EAOUHRBRGHKT. How is
DISTRIBUTION written in that code?

(A) TISTBUONDIRI
(B) STTIBUONRIDI
£€) STTIBUDIONRI
(D) RISTTIBUDION

78. Observe the dots on a dice (one to six dots)
in the following figures. How many dots are
contained on the face opposite to that containing
four dots?

AK) 2
(B) 3
(©) 6

(D) Cannot be determined

79. Count the number of squares:

(A) 8
B) 12

(@15

(D) 18

80. How many triangles are there in the
following figure?

A=

(A) 6
(B) 10
©) 11

/(Bj"l;’!

Choose the best alternative as the answer
(Q. No.-81 and 82):

81. A camera always has
/(.Ar)’ljens
(B) Reels
(C) Flash
(D) Stand

82. A river always has
(A) Delta
(B) Tributaries
(C) Boats
_(D)-Banks

83.
© @D
® ®
(A) 5
(B) 6

(©) 8
By




76. SRS (@el W4 I I e @it
2 (@4l (Nfers cemelfba g 71 =itz |

Poverty : Prosperity

(A) Love : Sorrow

(B) Train : Cart

(C) Rain : Flood

(D) Intelligence : Stupidity

77. @36 W8 Hwe swfers
BREAKTHROUGH & @ T
EAOUHRBRGHKT, (2 &F® “&fs G
DISTRIBUTION & S (&4 2(d ?

(A) TISTBUONDIRI
(B) STTIBUONRIDI
(C) STTIBUDIONRI
(D) RISTTIBUDION

78. fasfafe we @ el (1 9= 6 )
A3 a1 @ Sofaeis 4 6 7 g o Reidre
fars st 7wy sz e

(A) 2
(B) 3
(C) 6
(D) Cannot be determined

79. frzz o sesl 3+ zrmmm Ay 3@t

(A) 8
(B) 12
(©€) 15
(D) 18

C-15
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80. fmfefe forg souf fags tofd zamm?

LB

(A) 6
(B) 10
©) 11
(D) 12

@ Rl FEva a@ Ten R (2 W= 81
@3 82) |
81. <3 camera-a ¥l ATE
(A) Lens
(B) Reels
(C) Flash
(D) Stand

82. @l anlw Al >
(A) Delta
(B) Tributaries
(C) Boats
(D) Banks

83.

©3) @) @ 3 @ (16
® 3) @
©, @ @
(A) 5
B) 6
(C) 8

D) 9

Please Turn Over
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84. A man has a certain number of small boxes
to pack into parcels. If he packs 3,4, 5or 6 in a
parcel, he is left with one; if he packs 7 in a parcel,
none is left over. What is the number of boxes he
may have to pack?

(A) 106

4B 301

(€) 309
(D) 400

85. Arrange the following items from general
to particular:
(i) Animal
(i1) Feline
(iii) Leopard
(iv) Mammal
(v) Vertebrate
(vi) Cat

(A) (i), (i1), (iii), (iv), (v), (vi)
(B) (i), (iii), (v), (iv), (ii), (vi)
(C) (1), (iv), (iii), (ii), (v), (vi)
ABr(1), (v), (v), (ii), (iii), (vi)
86. Arrange the following in a meaningful
sequence:

(i) Consultation

(i) Illness

(iii) Doctor

(iv) Treatment

(v) Recovery

JA(i), (i), (i), (iv), (v)
(B) (i), (iii), (iv), (i), (V)
(©) (v, (iii), (), (i), (v)
(D) (v), (@), (iv), (iid), (i)

87. Which of the following interchanges of
numbers would make the given equation correct?
8x20+3+9-5=38
(A) 3,8
(B) 8,9
€T 3,5

(D) 3,9

88. If A>B,B>Cand C> D, then which of the
following conclusions is definitely wrong?

(A) A>D
(B) A>C
EerD> A
(D) B>D

89. If ‘<’ means ‘minus’, ‘>’ means ‘plus’, ‘=’
means ‘multiplied by’ and ‘$’ means ‘divided by’,
then what would be the value of 27 > 81 $9 < 6?

(A) 6
(B) 33
/(97"30

(D) 54

90. How many 3s are there in the following
sequence which are neither preceded by 6 nor
immediately followed by 9?

936639593 7891639639
(A) One
ABY Two
(C) Three
(D) Four

91. Inthe following series, how many such odd
numbers are there which are divisible by 3 or 5,
then followed by odd numbers, and then also
followed by even numbers?

12, 19, 21, 3, 25, 18, 35, 20, 22, 21, 45,
46, 47, 48, 9, 50, 52, 54, 55, 56

(A) Zero

(B) One

«CJ Two

(D) Three
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84. 93 Ffez I g @G I wiE @
CerEreaae dare 2@ | fofd afn 3, 4, 531 6 3tz
(e e+ ©rgre i iz 1 6 3 e, afw fefq
7% @ eE FEw, oiRE g @B A 91
I AL FEFL T (NYF A0 A ?

(A) 106
(B) 301
(C) 309
(D) 400

85. famferfee fRame e s amd i R orfie
HEne ¢
(i) Animal
(i1) Feline
(iii) Leopard
(iv) Mammal
(v) Vertebrate
(vi) Cat

(A) (1), (i1), (ii1), (Av), (v), (vi)
(B) (1), (iii), (v), (iv), (ii), (vi)
(C) (i), (iv), (i), (ii), (v), (vi)
(D) (i), (v), (iv), (i1), (iii), (vi)

86. fwfefre *wefe ol wdge faem
ATEne &
(i) Consultation
(ii) Illness
(iii) Doctor
(iv) Treatment
(v) Recovery

(A) (i), (i), (i), (Qv), (V)
(B) (i), (i), (iv), (1), (v)
(©) (), (i), (1), (i), (v)
(D) (v), (), (Giv), (iii), (ii)

87. fasfafie @i sicanefa sa=ia 2w R
(A O e Ao 2ra
8x20+3+9-5=38
(A) 3,8
(B) 8,9
(©) 3,5
(D) 3,9
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88. I A >B, B> C ¥t C > D 23, 2@ @
Prarel FMiowea a2
(A) A>D
(B) A>C
(C) D>A
(D) B>D

89. Ifit ‘<’ o ws R’ =0, > B wE ‘a@te’
7, ‘=" o% T ‘efiess’ 27, ¥3 °$ it ey =3,
OIZE 27 > 81 $9 < 6 9 W Fo ?

(A) 6

(B) 33
(©) 30
(D) 54

90. FEfRe *[fRem Foel 3 Wi @ukEa
AE 6 eRfFe 7w, awE 0 27ad 7= 9 w4
SEPTRIFS ;2

9366395937891639639
(A) One

(B) Two

(C) Three

(D) Four

91. FafRe sqem sosf Gy Ut =it
@afF 3 3 5 7 e ¥ag o fas s e
SAATFO R OIAAT (EGHAT B SPAIIFO |

12319, 21,3, 25,18, 35: 20,:22..21 45,
46, 47, 48, 9, 50, 52, 54, 55, 56

(A) Zero

(B) One

(C) Two

(D) Three
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92. 5=BF2*KS75#$PLVS@MUE
6TQGO©I3&TYE

How many such letters are there in the
arrangement each of which is either immediately
preceded by a symbol or immediately followed by
a number, but not both?

(A) Three
(B) Four
(C) Five

}D” Eight

93. How many meaningful words can be made
by changing only the consonants in the word
MEAN so that each of the consonants is replaced
by the previous letter in the English alphabet, by
using each letter only once in each word?

(A) One
(B) Two
L@y Three
(D) Four

94. If the first and third letters in the word
NECESSARY were interchanged, also the fourth
and the sixth letters, and the seventh and the nineth
letters, which of the following would be the seventh
letter from the left?

(A) A
AB) Y
(C) R
(D) E

95. Arrange the following words according to
dictionary arrangement:

(1)
(ii)
(1i1)
(iv)
(v)

Epitaxy
Episode
Epigene
Epitome
Epilogue

(A)
(B)
ey
(D)

(1), (i), (iii), (iv), (v)
(iii), (ii), (v), (iv), (i)
(iii), (v), (i), (i), (iv)
(v), (iv), (iD), (1), (iii)

C-18

96. A result of a survey of 1000 persons with
respectto theirknowledge of Hindi(H), English(E)
and Sanskrit(S) is given below:

Cs
>,

What is the ratio of those who know all the
three languages to those who do not know Sanskrit?

1
(A) 3

H

(B)

w53 3=

©

ADY

(4]
~J

97. The sum of the incomes of A and B is more
than that of C and D taken together. The sum of the
incomes of A and C is the same as that of B and D
taken together. Moreover, A earns half as much as
the sum of the incomes of B and D.

Whose income is the highest?
(A) A
ABY'B

kC) '€

(D) D

98. If ROME is written as MORE, then DARE
is written as

(A) RDAE
4BY RDEA
(C) RAED

r @_:--RADE

99. Choose the odd one:
(A) BdEg
(B) KmNp
(C) PrSu
(D) TwXz




92. 5=PF2*KS75#$PLVS@MUE
6TQGO©93&TYE

G2 R Fosfe oreg wiite @ufE Areha
5o od <3t Bz wie @@ 9ot ) 9=
SR g Teig At a0 e

(A) Three

(B) Four

(C) Five

(D) Eight

93. MEAN *®64 (&<eslig consonant @feg
“ffade T3 Foul LTS =9 @1 AE G2 6 @
consonant @fR aret B AAfFTEy A =TI
English 3frens 5 o428 wrwa aa @3z 2ifefs
o el *(03 (FIETNG A2 TS (A ?

(A) One
(B) Two
(C) Three
(D) Four

94, NECESSARY *(#3 f5fie sreaefk W
Rrea St 2 Afads 3 @1 2 @ - 24498
TOR S T WAFA FIH, 59Y G2 T AT
T AT BT, AT G T STFAaE A0S AT
FITH, OiFE AN S (A0F AL YE (@ S
PE?

(A) A
(B) Y
(C) R
(D) E

95, fanfafie =wefs sfodma fas sepia
Hrenes
(i) Epitaxy
(i) Episode
(iii) Epigene
(iv) Epitome
(v) Epilogue
(A) (1), (i), (ii1), (1v), (v)
(B) (i), (i), (v), (iv), (1)
(C) (iii), (v), (i1), (D), (iv)
(D) (v), (v), (i), (1), (iii)

C-19 AC/19

96. 1000 7f&a Hindi(H), English(E) @32
Sanskrit(S )43 $oA GITTF G0 ACST T forwanot ¢

E H

S5
),

s 316 R el et @i feEa w1 @3
Sanskrit @i (72 G5 IfEF F2AE oS F9 2

(D)

97. A €32 B-47 S @191 C €38 D-43 (12
SR (A @ | A 938 C-97 SR @515 B @38
D-43 SIET @SHE AN | AP A4 oW

B €3} D47 @A (@IS SE |
PR o e
(A) A
(B) B
©) C
(D) D

98. ¥f* ROME (=14l 28 MORE, ©12(51 DARE
(GRS
(A) RDAE
(B) RDEA
(C) RAED
(D) RADE

99, a5 @ 2
(A) BdEg
(B) KmNp
(C) PrSu
(D) TwXz
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100. Igloos : Canada : : Rondavels : ?
J(ﬁr Africa
(B) Rangoon
(C) Russia
(D) Indonesia

101. Right to vote and to be elected in India is a
(A) Fundamental Right
(B) Natural Right
A€ Constitutional Right
(D) Legal Right

102. In the Constitution of India, promotion of
international peace and security is included in the

(A) Preamble to the Constitution.
_(B)" Directive Principles of State Policy.
(C) Fundamental Duties.

(D) Ninth Schedule.

103. What will follow if a Monetary Bill is
substantially amended by the Rajya Sabha?
,(}5} The Lok Sabha may still proceed with
the Bill, accepting or not accepting
the recommendations of the Rajya
Sabha.

(B) The Lok Sabha cannot consider the
Bill further.

(C) The Lok Sabha may send the Bill to
the Rajya Sabha for reconsideration.

(D) The President may call a joint sitting
for passing the Bill.

104. The ideal of ‘Welfare State’ in the Indian
Constitution in enshrined in its

(A)_Preamble.
) Directive Principles of State Policy.

(C) Fundamental Rights.
(D) Seventh Schedule.

C-20

105. The fundamental objectof ‘Panchayati Raj’
system is to ensure which among the following?

&) -People’s participation in development
(B) Political accountability

/(C} ‘Democratic decentralisation

(D) Financial mobilisation

106. The power toincrease the number of judges
in the Supreme Court of India is vested in

(A) The President of India
_-(B) The Parliament

(C) The Chief Justice of India

(D) The Law Commission

107. With reference to Hausla 2018, consider
the following statements:
1. It is an initiative of Ministry of Minority
Affairs.

2. It provides a platform to children living in
Child Care Institutions (CClIs) to showcase
their skills.

Which of the statements given above is/are correct?
(A) 1 only
AB) "2 only
(C) Both 1 and 2
(D) Neither 1 nor 2

108. Inthe latest ‘Ease of Doing Business Report
2019 released by the World Bank, India has
secured

(A) 67th rank
_AB)“7Tth rank

(C) 87th rank

(D) 100th rank

109. PCA stands for
(A) Public Current Account
(B) Principles of Corporate Accounting
AC)y-Prompt Corrective Action
(D) Public Channel Agency




100. Igloos : Canada : : Rondavels : $1?
(A) Africa
(B) Rangoon
(C) Russia
(D) Indonesia

101. Sirear (oibifaas ¢ fdifoe 2ema wfgwe
GEai
(A) Gfers sfsra
(B) Freis wigwa
(C) ARy wftw
(D) T3y it wizfe wifgerg

102. ©IROR HRAw wEifes =€ ¢ fiores
TN TTEE S —
(A) Preamble to the Constitution-4
(B) Directive Principles of State Policy-(®
(C) Fundamental Duties-4
(D) Ninth Schedule-4

103. 3% €= Monetary Bill &SR HaeTeIA
FTHAI T T, O AT 4o P LA
(A) TS, AETHSE AoAE o5 3 4l
I FCE AT TAHE TA |
(B) @Tel #war e s @
R FE0S A 71|
(C) @Sl & e e qerTen @S
AISITS A AAAB71F &) |
(D) AFeif® 6 (T2 WEAIBA I T
S A KA = 217 &) |

104. ‘Welfare State’-93 5% ooR [
ALY T A T (I ?
(A) =B
(B) qremaifed e Aifedaa
(C) chfes sfeica
(D) A% Siferra

AC/19

105. ‘Panchayati Raj’ 39217 Gl Sl =&
fnfaie @b AfRes w12
(A) THSTS Geser Tenase
(B) AEASE WiEaze!
(€) ereifgs Rrsfasad
(D) e e

106. w@ﬂfm (IS FpTaca e e el
@erag RS g —

(B) @iTe!
(C) Siared a4l fantasfs
(D) =z Ffm=

107. Hausla 2018 >33 fawfifve [Rgfosf
v e —
I. It is an initiative of Ministry of Minority
Affairs.

2. It provides a platform to children living in
Child Care Institutions (CCls) to showcase
their skills.

@3 fRfoufem st @D/ @ma Al
(A) @I |
(B) (@<eTslig 2
(C) 193 2Tz
(D) 131 2 @I 7%

108. wifis s2/fs i 771% 291f%© ‘Ease of Doing
Business Report 2019’ m B [ACE I
(A) 6799
(B) 77w
(C) 87w
(D) 100<3

109. PCA *RPrssii’ F 3@ =% @RI ?
(A) Public Current Account
(B) Principles of Corporate Accounting
(C) Prompt Corrective Action
(D) Public Channel Agency

Please Turn Over



AC/19

110. Consider the following statements about
Regional Comprehensive Economic Programme
(RCEP).

1. Itis aneconomic cooperation for the China
led free trade.

2. Itis a counter cooperation for the America
led trans-Pacific partnership.

3. Inthecountries involved in this cooperation
Indian Professionals will have job market.

Select the correct answer using the codes given
below:

(A) 1and?2
(B) 1and3
(C) 2and3
(D)-All of the above

111. Mark the correct date and year in which the
Indian Constitution came into being

(A) 15th August, 1947
(B) 24th July, 1948

(C) 20th January, 1951
9)7--26&1 January, 1950

112. According to the Constitution of India it is
the duty of the President to present which of the
following on the desk of the Parliament —

1. Recommendations of Union Finance
Commission.

2. Report of the Public Accounts Committee.

3. Report of the Comptroller and Auditor-
General.

4. Report of the National Scheduled Caste

Commission.
Which of the statements given above is/are correct?
(A) 1 only
(B) 2and 4

Ey 1,3and 4
(D) 1,2,3and 4

113. Which of the following organisation
released Agricultural Marketing and Farm Friendly
Reforms Index?

AK) NITI Aayog
(B) Ministry of Agriculture
(C) Commission for Agricultural Costs
and Prices (CACP)
(D) None of the above

114. Who was one of the advocates of ‘United
Sovereign Bengal’?

H.S. Surhawardi
(B) Shyamaprasad Mukherjee
(C) Maulana Abdul Kalam Azad
(D) None of them

115. Which Article of the Constitution of India
guarantees to all citizens the freedom of speech
and expression?

(A) Article 16
(B) Article 17
(C) Article 18
D) Article 19

116. What is ECF?
_AA&) Economic Capital Framework
(B) Equity Cash Flow
(C) Entity Concept Fund
(D) None of the above

117. Which Schedule of the Constitution of India
distributes power between the Union and the
States?

(A) First Schedule

(B) Second Schedule

(C) Sixth Schedule
Seventh Schedule
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110. Regional Comprehensive Economic
Programme (RCEP) 7=if&s gfowfz 5 a1 |

1. Itis an economic cooperation for the China
led free trade.

2. Itis a counter cooperation for the America
led trans-Pacific partnership.

3. Inthe countriesinvolvedin this cooperation
Indian Professionals will have job market.

e code a7z wea Afe Tea Ao wc |
(A) @IETE 1 933 2
(B) @Feid 1 432 3
(C) @a=aid 2 932 3
(D) Toitad saef

111. e oifad g3k 927 ©biee e, 797 @@
sITer Hue waifere 3t T zEfeE ¢
(A) 15th August, 1947
(B) 24th July, 1948
(C) 20th January, 1951
(D) 26th January, 1950

112, ©0ed FRgw SaE ageifen 36 &=
ARFECHR (O0F (TR (BRE) THgen 21
ffoa —

1. Recommendations of Union Finance
Commission ((F&3 fea sfimrtaz
Fofaiafe)

2. Public Accounts Committee -9 Report

3. Comptroller and Auditor-General -9
Report

4. National Scheduled Caste Commission -
s Report

Which of the statements given above is/are correct?
(A) (@19 1
(B) 2934
(C) 1,394
(D) 1,2,349%4

AC/19

113. fxfRe s @ wegmalEm g @b
%51 $Ca— *Agricultural Marketing and Farm
Friendly Reforms Index’?

(A) NITI Aayog

(B) Ministry of Agriculture

(C) Commission for Agricultural Costs
and Prices (CACP)

(D) @02 77

114. ‘United Sovereign Bengal’-49 advocate-
(3 S GG fRreT
(A) H.S. Surhawardi
(B) Shyamaprasad Mukherjee
(C) Maulana Abdul Kalam Azad
(D) THARA (FTZ 7

115. 5= A5ifEraa U 961 € TS LI FIqTo!
SIFOR MU (P Article-9 fif*se w41 zrarm ?
(A) Article 16
(B) Article 17
(C) Article 18
(D) Article 19

116. ECF 9i?
(A) Economic Capital Framework
(B) Equity Cash Flow
(C) Entity Concept Fund
(D) Ttz @AbE 73

117. SRSE WU @ offe @@ 9
FIETA T 30! I AR ?
(A) First Schedule
(B) Second Schedule
(C) Sixth Schedule
(D) Seventh Schedule
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118. The eighty-sixth Amendment of the
Constitution of India altered a Directive Principle
of the Constitution to provide for

Mly childhood care and education
for all children until they complete
the age of six years.

(B) the state to provide free legal aid.
(C) encouraging village panchayats.

(D) prohibiting intoxicating drinks and

drugs injurious to health.

119. District Judge in a state are appointed by
the
_(A) Governor
" (B) Chief Justice of High court
(C) Council of Ministers of the state
(D) Advocate General of the state

120. The Impeachment of the President of India
can be initiated in
¢A) either House of the Parliament.
(B) a joint sitting of both the Houses of
the Parliament.
(C) the Lok Sabha alone.
(D) the Rajya Sabha alone.

121. Consider the following statements:

The Parliamentary Committee on Public Accounts
1. consist of not more than 25 members of the

Lok Sabha.

examine public expenditure not only from

legal and formal point of view to discover

technical irregularities but also from the

point of view of economy, prudence,

wisdom and propriety.

2]

3. examine the report of the Comptroller and
Auditor General of India.
Which of the statements given above is/are correct?
(A) 1 only
M 2 and 3 only

(C) 3 only
(D) 1,2and 3

C-24

122. Power to grant pardons are enjoyed by
which of the following constitutional authorities?

(A) President
ABY President and Governor of a State
(C) Governor

(D) Chief Justice of Supreme Court of
India

123. Article 280 of the Indian Constitution lays
down the establishment of the

(A) Planning Commission

(B) Inter-State Council

(C) River Waters Tribunal
By Finance Commission

124. The Panchayati Raj System of India has
(A) One tier
(B) Two tiers
~A€) Three tiers
(D) Four tiers

125. Which of the following Amendments of
the Indian Constitution is related to reservation of
SC’sand ST’s and representation of Anglo Indians
in the Lok Sabha and State Assembly?

(A) 54th Amendment
(B) 63rd Amendment
(C) 111th Amendment
ADYy=79th Amendment

126. Anarc of length 121 cm makes an angle 77°
at the centre of a circle. The radius of the circle is

(A) 110 cm
(B) 100 cm
. @90 cm

(D) 70 cm




118 181y eIt 86 712 FLAN4T Directive
Principle-9 7R T3 20" @6 & 2
(A) early childhood care and education
for all children until they complete
the age of six years.
(B) the state to provide free legal aid.
(C) encouraging village panchayats.
(D) prohibiting intoxicating drinks and
drugs injurious to health.

119. @ ST District Judge #ig& 2w
(A) Governor 2i<l
(B) High Court-43 &4+ 4512« 7=
(C) 7itens FehE o7 Ffrses 7t
(D) =lte5d Advocate General %I

120. ©ares ARsifea cwog wfewas st 9
(A) ARG TS SCFT @GS |
(B) ACoa Ton 0w (12 SETIe |
(C) FIRS GFFOIA |
(D) AEPTE GIFSI |

121, fasferRe Ryfewf fom #= ¢

Public Accounts-43 &% Parliamentary Committee
1. FIRSTSH 25 & AHo-43 w4 a1 ifoe 20

|
2. (@<l oiRf € tagerm A public
expenditure #I91% 3 71 (PGS technical
e it e GiiE aw, Sofag et fes,
Fo2o!, @i @R IS (IR TS ARG

2|

3. @099 Comptroller €<% Auditor General-
@7 fRTeAfG, A9+ & |

Toifaefafie i Tea at Teaafs e
(A) @I 1
(B) 24® 3
(C) (=3elq 3
(D) 1,29 3

C-25 AC/19

122, fffe @i wRufs S =0
AR e SR ?

(A) Fstfen

(B) A@eifeq 93 @ AT AT
(C) Arey=ieTa

(D) SrSRIfE @ha < 1 2w Roracea

123. ereR W[ b 280-c Fafafe
I Bl 77 T AR?
(A) s e
(B) Sle:aTey FCiHeE
(C) A GETREE Gl
(D) =g B

124. SECSF 21WTAS A% FIZER 4F
(A) 9T
(B) Tawa
(C) fowez
(D) B

125. er@or HRuiwa eimefam s @R
FHG ETRTS] @3 Aey [Fre SC €3 ST-7
Gy HeFe! oS Gk SIkEE S effeffy
ENRTSI 932 e LTS AP oA T=oifFe 2

(A) 543 AL
(B) 6395 A4
(C) 1119% FEreitee
(D) 79¥ FH 1

126. 121 cm Oei @b @bl J0ea 0 77°
Gl Tl 3¢ | J08 APNY T3
(A) 110 cm
(B) 100 cm
(C) 90 cm
(D) 70 cm
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127. The arithmetic mean of the numbers 9, 12,
15,18,20,22isincreased by 1,if 15 isreplaced by

(A) 16
(B) 17
(©) 19

@ri

128. The number of spinal nerves in human
body are

(A) 12 pairs

ABY 31 pairs

(©) 31

(D) 12

129. Abomb isdropped ata point fromamoving
aeroplane. The pilot observes that

(A) the bomb traverses a curved path and
falls some distance behind that point.

the bomb traverses a curved path and
falls some distance ahead.

(C) the bomb drops vertically downward.

(D) the bomb remains stationary in the air
for some time.

130. Which of the following is used in beauty
parlours for hair setting?

(A) Chlorine
_BY Sulphur
(C) Phosphorus
(D) Silicon

131. Which of the following fertilizers has more
nitrogen content?

kﬁ)/ Urea
(B) Ammonium Nitrate
(C) Potassium Nitrate

(D) Ammonium Phosphate

132. Good absorbers of heat are
(A) poor emitters
(B) non-emitters

€7 good emitters

(D) highly polished

133. Ventilators are provided at the top of the
room

(A) to bring oxygen for breathing.
(B) so that sunlight may enter the room.

A€y~ 1o maintain convectional currents to
keep the air fresh in the room.

(D) to provide an outlet for carbon
dioxide.

134. Voice of your friend can be recognized by
its

(A) pitch
_{By-quality

(C) intensity

(D) velocity

135. Light year is
(A) light emitted by sun in one year.

(B) time taken by light to travel from Sun
to Earth.

Me distance travelled by light in free
space in one year.

(D) time taken by earth to go once around
the Sun.

136. Twinkling of stars is on account of

(A) large distance of stars and storms in
air.

(B) rotation of earth.

We size of stars.
large distance of stars and fluctuations

in the density of air.



127. 9,12, 15, 18,208 22 47 1S 1 3% =Ac2 7w
i 15-49 (5 (@6 27

(A) 16
(B) 17
(©) 19
(D) 21

128. SR * HIR TS AT T
(A) 12 ceren
(B) 31 =l
: : () 21
| (D) 12

129. 1+ 5678 A1 (It @60 BT (101 el 2 |
fa=e viete o @

(A) Q@D qEFITR 575 & B3 ot =9 |
(B) GAIIG I@oitel 5751 & BT AN ATS |
(C) @I TEFeNa NG 21T |

(D) @it fog 15 argre &g A |

130. &M «iffica’ 5ot v 213 ooy <2< w41
=

(A) @@=

(B) HA=Tra
(C) FIFaM
(D) fifew

131, AT @ AT ARG oA @
A ?

(A) Tof

(B) SIS w206
(C) =Bifear wi2E5
(D) SOt s
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132. T wiet ceireRsal o
(A) ¥ Rz
(B) w-ffFa
(C) Tex Ridas
(D) T “Afemge

133. 927 Toitaa e cefowng A
(A) =P SRS S & |
(B) TS A S IR TS AN |

(C) ISR AAFANGES TG (&0 IS
SIE! AE G |

(D) F4 T2 SFHBLCT G s 212 2141z
e |

134. (ONIA 353 FIFF (51 T O
(A) o5 (Srwer) @t
(B) @mifefs (a at wif) @
(C) 2y (SiFe) =t
(D) @ =3t

135. e 2=
(A) @ Fera 7 @ e [ifdad a1

(B) 34 (AF +{fAATe et SIS @ FF
e |

(C) *FrEIt SIEt ¢ 2 @ 1A Sfees
A |

(D) 4 vifafurs 9= 3@ gare +fedw @
S A |

136. wra RERRE 727 F=6 ==
(A) a0rR Rt 729 @ A IS
(B) 2= g
(C) SrRImMA e S
(D) v i 42g € I Tega Zhifa
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137. Select the one having pH < 7.
&) Lemon juice
(B) Lime water
(C) Human blood
(D) Antacid

138. To protect tooth decay we are advised to
brush our teeth regularly. The nature of the
toothpaste commonly used is

(A) acidic
(B) neutral
4@ basic

(D) corrosive

139. Which one among the following is the main
ingradient in cement?

(A) Gypsum
,{-B‘)"" I:imcslone
(C) Clay

(D) Ash

140. Brass is a mixture of
(A Copper & Zinc
(B) Copper & Tin
(C) Copper, Nickel & Zinc
(D) Copper, Aluminium & Mg

141. The percentage increase in the surface area
of a cube when each side doubled is

(A) 25%
(B) 50%
(©) 150%

AD) 300%

142. Find the LCM of % —g—and %
(A) 20
(B2
© s
) 24
D) —
20

5 , = l l
TR ) o NP ULt

6
find the value of 5 + 6" + 7 + ... + 10°,
(A) 330
(B) 345
AC)-355
(D) 360

144. Two cars, passing each other at high speed,
are in danger of side swiping because

(A) of the increasing in air pressure in the
space between them.

(B) of decrease in the velocity of air
molecules between them.

decrease in air pressure in the space
between them.

(D) of the increase in the velocity of air
molecules between them.

145. The food that gives more calories per unit
mass of food is

(A) protein

(B) carbohydrates
f(,(})' fat

(D) water

146. ECG records
(A) rate of heart beats
AB) potential difference
(C) ventricular concentration
(D) volume of blood pumped




137. @4 pH < 7 16 ==
(A) 37 3
(B) B &=

(C) NES 7@
(D) SEHF (GBIHE)

| 138, WITST MWAGA & St e wre
TR ST (e T | (T Wiew PI2IA 9 5 ©fF
e 23S &=
(A) wifss
(B) fasers (fEGe)
| (C) =i
j (D) =T3S (FeAlfre)

| 139. |57 @ Becsa o1 SoAme 2
’ (A) TP

(B) Rt

(C) =6

(D) =%

140. f7ee @iba fie 2
(A) SIS @ 7!
(B) i @ fon
(C) s, et @ vt
(D) efsl, Sprefsfass @ e

141. @ Ta 2Afel w Rad s, crage
(A) 25%
(B) 50%
(C) 150%
(D) 300%

143. T 1°42°+3%+

(D) 35

T n(n+1)(2n+1)

......... >
TOE 5 +6 +T 4 +10%-97 W9 2@
(A) 330
(B) 345
(C) 355
(D) 360

144. 9f5 o1, Twifere gre Som afer 33z |
SR APNAIR beA R -az e

(A) SITHR SR S A 191 FTT AN |

(B) ©ItAd R SAfFe IPFIF @5 I
e |

(C) SITHa TR SR Y Bl Sr e |

(D) ©IMA SR SRFFS ATFNT (@9 @0
e |

145. 2% @33 ©ra QR WER @6 77 @ 49
©l 7

(A) c2ifos

(B) lcafziZugs
(C) WB

(D) &=

146. ECG fforam az

(A) ZBAG (Tw>iwa) 97 2=
(B) faea ey

(C) conFema a7y

(D) #M™i F41 TS TS
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147. Bio gas consists of
(A) Carbon monoxide, Methane and

Hydrogen
Carbon dioxide, Methane and
Hydrogen

(C) Carbon monoxide, Ethane and
Hydrogen

(D) Carbon dioxide, Ethane and Hydrogen

148. Noise pollution is created if noise is in
excess to

(A) 70-75 dB
(B) 50-60 dB
€y 80-99 dB
(D) 40-65 dB

149. If persons addicted to alcohol, the liver gets
damaged because it
(A) has to detoxify the alcohol.
(B) stores excess of glycon.

(&~is over stimulated to secrete more
bile.
(D) accumulates excess of fats.

150. At magnetic poles, the angle of dip is
(A) 45°
(B) 30°
(C) Zero
@90

151. The Constitution Bill (123rd Amendment),
2017 deals with
(A) empowers National Commission on
Backward Classes
(B) empowers National Council for
Backward Classes
(C) empowers National Council for
Schedule Castes
(D) empowers National Commission for
Schedule Castes

152. Which section of the Indian Penal Code
deals with adultery?

(A) 496
(B) 497
(C) 498
(D) 499

153. Who won the Academy Award for Actor in
a Leading Role in 2018?

(A) Sam Rockwell
«(B) Lee Smith

(C) Alexandre Desplat
(D) Richard King

154. Who won the Pulitzer Prize for Literature
in 20187
4&Y Andrew Sean Greer
(B) Jhumpa Lahiri
(C) Arvind Adiga
(D) Hernan Diaz

155. What is the venue of the forthcoming G 20
Summit?
AA) Osaka
(B) Oklahoma
(C) Orleans
(D) Oslo

156. Executive power of the state is bestowed on
the Governor by which article of the Indian
Constitution?

AA) Article 156
(B) Article 155
#4C) Article 154
(D) Article 153




147. MR SoAmmaa
(A) I RS, firee ¢ 2Rugies
(B) A ©f2 sz, fre ¢ 23w
(C) IEA AT, T2 € FFGIE
(D) 314 ©i2 TG, 202 ' FRIGEH

148. *373el 27, Wt (ColleTiier) sl af @f® 27
(A) 70-75 dB-43
(B) 50-60 dB-«3
(C) 80-99 dB-«3
(D) 40-65 dB-93

149. @iW Ifen SprEFEE e & fem
Hoag 27 I @b
(A) STECRIEET SAME oI 367 |
(B) Aef® afzgm Heen w4 |
(C) f¥ TAfore a1 TP (AT @ #i5e
% fAsfe @71
(D) & % A%y 3= |

150. GrEamzre TWfe @ld—
(A) 45°
(B) 30°

(© 20
(D) 90°

151. 123 O33R A0 ) Raw S
Tl B ?
(A) T FHRE S FRPSTS FIEP-99
A
(B) TalE FEMHE T AIPSTC FIH-
A9 TSR
(C) a1E FIefHe T MiTTa FPo7-97
TFGEA

(D) =ieiel ahmE ¥ #ifTSe PpoH-a3
S
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152. SreR wofifda (ie 1A e Aeewre
RIECERCE R el

(A) 496

(B) 497

(C) 498

(D) 499

153. 2018-7 24l bfave Sfeam@ em @ efeme
GPITE ATHS oAl 2
(A) ¥ TIPS
(B) =it e
(C) SIS (TS
(D) 2516

154. 2018 =1 f2eey siferewm 7%= i
@i fefer 2

(A) aTzC B fome

(B) 3=t =izl

(C) wrafew afesit

(D) Zfa=e feare

155. o & 20 ARG e swde e
(A) e
(B) eIt
(C) eafem™
(D) €A

156. MR @ 4 ATTARAE AEA
PRSI Fe! (e FATE ?

(A) 156 -

(B) 155

(C) 154

(D) 153
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157. Who is the author of Flood of Fire?
(A) Amit Mitra
(B) Amit Chaudhury

Sy "Amitava Ghosh

(D) Atul K Thakur

158. Who is the newly appointed Goodwill
Ambassador of UNICEF?

AA) Millie Bobby Brown
(B) Dominique Lapierre
(C) Deepika Padukone
(D) Salma Hayek

159. Who is the Indian Ambassador to China?
(A) Vijay Gokhale
M) Vikram Misri
(C) Vijay Aurora
(D) Ramendra Singh

160. Who is the President of IMF?
(A) Horst Kohler
(B) Rodrigo Rato
(C) Dominique Strauss
B Christine Lagarde

161. Who is the President of Maldives?
&) Tbrahim Mohamed Solih
(B) Ibrahim Nasir
(C) Mohamed Nasheed
(D) Abdulla Yameen

C-32

162. Who was the Prime Minister of Israel
during the Munich Massacre?

) Golda Meir
(B) David Ben-Gurion
(C) Levi Eshkol
(D) Shimon Peres

163. Who is the Secretary of State of U.S.A. in
January 20197

_(A) Mike Pompeo
(B) Rex Tillerson
(C) Hillary Rodham Clinton
(D) Warren Christopher

164. Who will continue as the Emperor of Japan
till April 20197
(A) Mutsuhito
_(BY Akihito
(C) Hirohito
(D) Michiko

165. Who is the President of South Korea?
(&) Moon Jae-in
: (B) Lee Jae-myung
(C) Ban Ki Moon
(D) Ahn Cheol-soo

166. Who was Sikkim’s last sovereign king?
(A) Phuntsog Namgyal
(B) Tensung Namgyal
(C) Tashi Namgyal
Palden Namgyal



157. e o FHa’ 320 14 @147
(A) e fiig
(B) wifire iy
(C) wfrers grm
(D) OIgeT (< T

(F?

(A) ffer afz argw
(B) cfifazs anfemrg

(C) Hifor Argraere
(D) ! 2

| 159. o TS ©RTSA AFTO (2
(A) fRem cotrs
(B) faws fidt
(C) Few wamt
(D) Al kg

160. <% O GF-97 TLF (F?
(A) Z% (P
(B) Fefsll amicht
(C) wfifaz Jrew
(D) fafGa =nsiet

161. ERIAT AFATen 7w Fe
(A) TR GIrRIeaw Az
(B) @2 AR
(C) (IZITW 5w
(D) S 20

158. UNICEF-9373f«g@ Goodwill Ambassador
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162. fBR sjzerz 7w TeREE A4 @
Tt 2

(A) (ool g
(B) (efew (@a-wfamm
(C) @ife @i
(D) s (ol

163. 3% WfF Feaga Fa1g Aba @ ¢
(A) WES r=rie
(B) &3 st
(C) =ifa v fFoa
(D) e fF5wa

164. (201997 Gf2e * TG FATHI HED QE 7
(A) Yozl
(B) wifRre
(C) Rraifzre
(D) faforzt

165. v @ifaaa agefes am Fe
(A) ¥ (& &
(B) &1 e foree
(C) A & 5=
(D) SN (56 7

166. FfEE= oo FiEw =7 @ 2
(A) FoH9 TR
(B) (O FICAIE
(C) iffr s
(D) HieTtra FISCarEE
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167. When did President Trump sign ‘Asia
Reassurance Initiative Act’ into law?

AA) 31 December 2018
(B) 31 October 2018
(C) 31 July 2018
(D) 31 August 2018

168. Where is Vansda National Park Located?
(A) Uttar Pradesh
_(B)" Gujarat
(C) Rajasthan
(D) Madhya Pradesh

169. What is the currency of Iran?
A& TIranian Rial
(B) Iranian Rubel
(C) Iranian Diner
(D) Iranian Dollar

170. Which date is marked as the World Day for
War Orphans?
(A) January 3
(B) January 4
(C) January 5
(DY January 6

171. Who was the dissenting Judge in the Apex
Court’s Sabarimala verdict?

(A) Justice Indira Banerjee
(B) Justice Nariman

(C) Justice Khanwilkar
(D)~Justice Indu Malhotra

172. Who is the Leader of AIMIM?
(A) Julfikar Ali
,Q-B")/Asaduddin Owaisi
(C) Oyesuddin Siddiki
(D) Dinkar Rai

173. Which province of India is the first to have
complete organic farming?
(A) Mizoram
(B) Tripura
(C) Arunachal Pradesh
£];J/Sikkim

174. Who among the following never became
the President of United States of America?

(A) Herbert Hoover
ABY Geraldin Ford

(C) Calvin Coolidge
(D) James Buchanan

175. Who was honoured with 54th Jnanpith
Award?

(A) Vikram Seth
(B) Anita Desai
(C) Kiran Desai
Q) “Amitav Ghosh

176. Who founded the ‘All India Harijan Samaj’
in 19327

(A) C.R. Das

(B) Subhas Chandra Bose
(C) Jawahar Lal Nehru
(PY"M. K. Gandhi




167. APTTHE~A ‘et e e
ST - FHT I WL ARS e 2

(A) 31« Tr793 2018
(B) 31¢¢ =3< 2018
(C) 31¢¢ g% 2018

(D) 31¢ =155 2018

168. 3wl QIS Twie (T SAfFS ?
(A) Teaem
(B) w&AT®
(C) wrerzgl=
(D) sy

169. 33 ui Ji 2
(A) ZRIf forirey
(B) AW %03
(C) IR fastig
(D) Zf @iy

170. World Day for War Orphans 373 #fffere 221 2
(A) 33w
(B) 491 Gl
(C) ST
(D) 6% Tl

171. Fffew @G SRENE Aw @ [eret
foRsT® (oM Fae 2 :

(A) fasra#ifs 2Fm apmrs

(B) fasraeife wifzmm

(C) Fvrsife dgzma

(D) f5iaeifs 3% Tzl
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172. G0 Y (F 9. WR G INR.GT-97 (o1 2
(A) gffrea wife
(B) SR €@l
(C) s P
(D) a7

173. SRS (i A% 375 (erd A fors a2z 2
(A) freras
(B) fasgat
(C) SrEelTb=T 2!
(D) @

174, 43 & (@ I NEFE FSaT7 el
e

(A) 2730 zoig
(B) femiffen e
(C) =Few Ffere
(D) C&r1 Ioiee

175. 54%% @HAS SFHR (A @I AR 2
(A) @ 15
(B) S (71
(C) =9 o2
(D) wIfrore 9

176. 1932 Ats W& 3few sfaea wwe afes
FfRE @

(A) B =1z vt
(B) o/ b¥ 7]
(C) G2dele (125F
(D) 9. . iif&
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177. Who is the founder of the Ghadar Party?
(A) Lala Lajpat Rai
~B) Lala Hardayal
(C) Bhagat Singh
(D) Kunwar Singh

178. Where was the Provisional Government of
Independent India (Azad Hind) formed?

#(A) Singapore
(B) Tokyo
(C) Berlin
(D) Rome

179. The famous INA trials took place at the Red
Fort, Delhi in

KT 1945

(B) 1946
(C) 1947
(D) 1948

180. Where did the congress working committee
first accept the idea of Quit India Movement?

_(A—)’Wardha
(B) Benaras
(C) Calcutta
(D) Delhi

181. Which leader died on the day the Non-

cooperation movement was launched in 19207
Aﬁ;[: Gangadhar Tilak

(B) Lala Lajpat Rai
(C) P. Sita Ramayya
(D) C. Rajagopalachari
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182. At which session of the Indian National
Congress was ‘Vande Mataram’ sung for the first
time?

(A) 1920 session
(B) 1906 session
AC) 1896 session
“(D) 1922 session

183. When was the Non-cooperation movement
suspended?
(A) 1918
(B) 1920

(©y 1922

1
|
(D) 1924 ‘

Congress was presided over by
(A) Surendra Nath Banerjee
(B) Womesh Chander Banerjee |
(C) Aurobindo Ghosh
(D) Bipin Chandra Pal

184. The first session of the Indian National '

185. Who set up the Indian Independence
League?

~(A) Rash Bihari Bose
(B) Subhas Chandra Bose
(C) Mahatma Gandhi
(D) Jawaharlal Nehru

186. The provision for separate electorate for
Hindus and Muslims was made in

(A) Government of India Act, 1935
(B) Montague Cheimsford reforms
A€) Minto-Morley reforms
> l(D) Mountbatten Plan




177. w4 =i afewr sferEm @2
(A) #e FES A3
(B) & WAL
(C) ©sie B
(D) Fea i

178. =31 S5 faw e (e sifde safke 2
(A) PEoE-9
(B) (Gifre-o
(C) afFfa-«
(D) @-9

179. @R, @, 9 -7 R=0re fRs-se waa s
TS ANE SIfoe LR ?

(A) 1945

(B) 1946

(C) 1947

(D) 1948

180. =t ST FMM @ W RO TE’
SRR 2B 2L 2179 FR?

(A) eI

(B) 3!

(C) =l

(D) fal

181. 1920 75 SRS SNCwET &F F419 W
SEECICERNSI T
(A) 3 oo foo
(B) =& G A
(C) . o=z
(D) 1. arEaneiEsE
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182. SIATSA GO IR (P ST LT
W S AW SMe 2 e
(A) 1920 SifET=w
(B) 1906 Sif&ra=i=
(C) 1896 ifsr=mis
(D) 1922 Sfara=iq

183, SIS I (I A AP ToTel
I ZrafeE 2

(A) 1918

(B) 1920

(C) 1922

(D) 1924

184, SRS TSR T 22 ST Foinfe
oW @
(A) TG AN
(B) Tt 5 yieifes
(C) =l (arT
(D) fafs 5% ~@

185. 2 FiCroces Ao — & afew aeaw 2
(A) IR 35
(B) o1 v 7
(C) =4 sir!
(D) =R

186. &7 @3 PrEwmmE Y2 Waivewedmet
iz TR A@W @ IFR TG I A2
(A) STSHGrS oI 2fea w13, 1935
(B) SCH@ (GG Fwf

(C) froi-was sl
(D) SISBAH i Fwwmi
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187. In which session did the Indian National
Congress declare Poorna Swaraj (Complete
Independence) to be its goal?

~AA) Lahore, 1929
(B) Lucknow, 1916
(C) Tripuri, 1939
(D) Bombay, 1940

188. Which important event immediately
preceded the Jallianwala Bagh massacre?

(A) Communal Award

(B) Arrival of Simon Commission
(C) Non-cooperation movement
:(9) Rowlatt Act enactment

189. The famous Pakistan resolution was passed

at
K) Lahore
(B) Delhi
(C) Bombay
(D) Lucknow

190. Which Act was known as ‘Black-Bill’?
(A) Rowlatt Act
(B) Pitt’s India Act
(C) The Regulating Act
(D) Indian Council Act

191. Who once remarked — ‘Nehru is a patriot
while Jinnah is a politician.’?
(A) Maulana Azad
(B) Mahatma Gandhi
¢€) Sir Mohammad Igbal
(D) Abdul Gaffar Khan

C-38

192. The Khilafat movement was started by
(A) Muhammad Ali Jinnah
(B) Dr. Zakir Hussain
(C) Fakruddin Ali Ahmed
(DY Ali Brothers

193. Who said — ‘The Simon Commission
Report should be thrown on a heap of rubbish’?

(A) M. K. Gandhi

) Shivaswami Ayyar
(C) Mahammad Ali Jinnah
(D) Jawaharlal Nehru

194. Which day was declared as the Direct Action
Day by the Muslim League?

(A) 3rd September, 1946
AB) 16th August, 1946
(C) 16th May, 1946

(D) 4th December, 1946

195. 6th April, 1930 is well known in the history
of India because this date is associated with

(A) Dandi March by Mahatma
) (B) Quit India Movement

(C) Partition of Bengal

(D) Partition of India

196. Which battle established the supremacy of
the British rule in India?

(A) Battle of Plassey, 1757
(B) Battle of Buxar, 1764

(C) 3rd Mysore War, 1790-92

(D) 4th Mysore War, 1799
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187. ©ICSA WIS IFPY (I WA “ojef
FIRITO S o7 et (el IR 2

(A) =ieara, 1929

(B) =, 1916

(©) @73, 1939

(D) GAITH, 1940

188. SIfCRIAGHIETIIef QEIPILe RIS 2[4 (]
farer e webfee ¢

(A) IYIE SHSAG

(B) AR T Soie
(C) SPREAle! SftwieT

(D) Rowlatt S2 &z

189. RyTe A 2w e o 33
(A) #a
(B) fadlt
(C) @"
(D) =

190. (T WiZFCF ‘Black-Bill’ &1 28 ¢
(A) Rowlatt S
(B) Pitt 3f&a1 o3
(C) & aew=it: =iE-
(D) Zfam FEHE wE-

191. ‘FzF 9Iaq oA, & 9sew
AW |* — %GB & AR ¢

(A) GIE! SEw

(B) w21t iif

(C) K M 231

(D) & SFFE A
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192. 3 N PR (TP FRENFS SHle wF 2302
(A) Tz wife fem
(B) ©. Tifea e
(C) Tawwe wife Szem
(D) wiifer Sizgat

193. i fEmta eiferavm e gue st
91 Tfb® 17 — @ A (& AR ¢
(A) 9. 3. &
(B) M= e
(C) wzum wiife femt
(D) ©=FeM6 (%F

194, I faeeas spifersy Aot “erors sieai ey ave
el i ?
(A) 3 GILHEA, 1946
(B) 16 =096, 1946
(C) 16, 1946
(D) 4 fSrH3, 1946

195. 1930 A=A 62 «f2e Siarea 3fozr [
Ty, 179 @2 e 7o —

(A) QA Sifés SfSae-ag e
(B) CIAS-BG ST FH
(C) F-Rerer-99 Ao

(D) SIF® [ei9-a3 AH

196. (1 Jraa 54 faa orars f&afb= =i 7w

Y OF W
(A) *f& T@, 1757
(B) IIMAA &, 1764

(C) T FZ¥A T, 1790-92
(D) 599 T2F =, 1799
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197. Kuka movement is associated with which
of the following states?
(A) Assam
(B) Bengal
Gy Punjab
(D) Maharashtra

198. The idea of Pakistan was first conceived by
S Muhammad Igbal
(B) ML.A. Jinnah
(C) Shaukar Ali
(D) Agakhan

199. The Rowlatt Act was passed in the year
(A) 1917
ABY 1919
(C) 1921
(D) 1923

200. Which of the following movements
immediately followed the partition of Bengal?

(A) Non-cooperation movement
_(BY Swadeshi movement

(C) Civil disobedience movement

(D) Ghadar movement
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197. T3 SNCHE (o] AR FCH T=AFS 2 199. Rowlatt SIi3s 3 e 2re 27 ¢
(A) = (A) 1917
(B) e (B) 1919
©) “aR (C) 1921
D) 1923
(D) w21 S

200. RS SwERefE T @R s

198. “ANFTH-G L7 AT (F ©IIA ? IS TS 47 HesiFe zrfes ¢
(A) ST 2305 (A) SPTRAIS SITHIE
(B) @4, femt (B) FWHI! ST
(C) P =fa (C) SEH S+ S

(D) el A (D) W3 STl
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